(AT L T )
(R L T e )
TR

7 112 T i L 2

T 7 P MBI At
)15 1 B M e O ik &t

[}

— _120m L{/{,,,/ — K 9@, a N
S N —{£\(50-100 N X
SN 60-200] | o] 4 N
OIS~ L1E] \m R ¥
el DNy, VAT S )
N | RN %5%2.5@@ g X - |
1IN A4 NN L5, Co WS R
NN \\ \“ ‘L\. ~\ S Cy -§:’%§9 5,\“ % Q@EQ \%,,, @ Q%@a @ ézf O
T NS DN (o ® O
T N . L TSG Y S Q@ % by .
-200] / ANE o2
e alans
2/ A\
\
L'// _'ﬂi i
' 55 30-60
N 10 —
5 | 14& =
—rH & LI\ Vo
60-200] " \ogn % ‘ GL I
- | # , V'\}\\ ’ )
_ | NG | THHIY
OO I% = QQ - | N
. {60-200
QQ%:} - % “
AN ZCE 2
| A ‘ %
. yﬁ[¥s | i) 2
(R 61 REMWLMRE N NG
— 1K %;ﬁﬂﬂﬁﬁ mg | BEE)FEE ) WP lmm | mA | #he | €
2#%%E% —50-1001— FHEE% - - a ~_
- : : ZEu | — & 60 200 — 2 1& | K N
BEMOES — 10 | # | prx-Epncs = 7.2 4
DEE () 178 = ey 2 . @ . LTRE | £ [ 60 200 — | 2 @& | #HK L5 g y e
:_°®°:: ZEH | — & 60 200 — 2 1 | &KX 0.2 > mé%f °§
oo ERE|EE | 60 200 — | 2 @ | #EBHAK| ™S g
{ FRER | — — s _ S
1/2,500 3) fom : B | 40 80 10 | 178 : 35 ~_ = é&?\bs
0 100 200 300m %E1§ i% 1$ 60 200 - 2 *E QEBHK ST [ H,“H =z 0?
| | i | i | |y [ = | %0 [ e [0 |@m| - |, s
FER | #£E | 60 200 — | 2 8@ | #HK| T - e |

ZOMKIL, HREREFEOAKEELZIT T, WEEMER 2,500 501 HIEKEZFIFH L TER LD THD, HElrE LA 284"
(KFRE ) BETHIERREE 275 oM 3FE5 H 21 H] BASTHELRHIE 11 5 SFf345 H 21 H] (3 AT IEEASSE 60 5 SFf 345 H 26 H]



